11,415 S 5 idle o :
099 | 1153 il Cladd 3y gudd 0 | 12,4 [10,35/12,67 10,7 | ludS | Ilad | ape
11,38 psle -
1 11,38 | <l Grgud | Ads05 lad s 4l 0 [13,46[10,21| 10,4 [11,45| ludS | I,lad | Shgohal
11,323 asle o
1 11,3225 | <haxd Groud |4l a0 g4l 0 |133 [10,89| 10,7 | 10,4 | budS | Ljlas | zlall s
11,287 | AR T
0,98 | 11,5175 | e Gygud | 4d 903 jlad 44l 0 |12,34[11,04/11,33|11,36 | <ludS | 4 a3 | elal
agin e e [V
099 | 1133 il Cladd (3 guad 0 |13,23(10,64|10,95| 10,5 | <ludS | 4 las S
11,15 s i
0,99 | 11,2625 | <head Gy | 4d503 ad y 4l 0 [13,06 11,06 10,52 10,41 | ¢budS | Zjlad | (s adia
11,145 asle 12
1 11,145 | el Gugad | Al g3 ket 5 4l 0 [11,16/11,05/10,87 | 11,5 | udS | Ljlai | rlazmgm
11,103 7% do L
0,99 | 11,215 | <hexd Grgud | 4d405 lad 4l 0 [11,22[11,52/10,54 [11,58 | <lwdS | a3 dig,8
11,045 3 fed shike *e.,l“" &
1 11,045 Ay Cherd 3y gud 0 [13,28/10,19 | 10,68 | 10,03 | <ludS | 4jlad | aml ol
10}948 0‘)\%3 K a*“_a ",‘,]a‘ - 15
1 | 10,9475 Al Cladd (33 gu 0 |11,84[10,49|10,47 (10,99 | <ludS | Ljlad | s g
10,784 aJl;jJ@LA “a_,XG e é)é 16
0,94 | 11,4725 Al Chedd (3 gud 1 [13,01(11,02/10,73 (11,13 | ¢ludS | 45 yalall
10,765 i Gkt o
0,98 | 10,985 | <hewd Gygui |43 i 54 0 [12,43]11,16[10,35| 10 | <ludS | Zjla3 | 5y
10,761 pole o | qg
0,99 | 10,87 | e Ggd |ddg05 a3 54l 0 |12,11]10,55|10,34 10,48 | <ludS | a3 G g
10,719 5 =
0,99 | 10,8275 | <lexd Gysud |4 505 lad 54l 0 [11,97]10,11[11,14|10,09 | <ludS | Zjlad | aewolaa
10,709 s B2
0,99 | 10,8175 | <lexd Gugui |4y lad y4lle 0 [11,69[10,33|10,07 11,18 | ¢S | Zjlad | e i
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